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FEETFHE (escalation of commitment)

F A AHM (organic organization)

AR RELRE (organization restructuring)
HESE AR (group information sampling)
Bl EHEER (goal-setting theory)
R (entrepreneurship)

MM (selected perception)
EHATICHEE (transformational leader)

. AJTE&EEHM (human resources planning)
10. ZE#¥a14F (balanced scorecard)
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Y - A chemical engineer is in charge of a particular process at a plant. Past experience
indicates that 20% of all shutdowns are due to equipment failure alone, 30% are
due to operator error, and 10% involve a combination of equipment failure and
operator error. A shutdown is occurred. Find the probability that

(1) equipment failure or operator error is involved (5%)

(2) operator error alone is involved (5%)

(3) neither operator error nor equipment failure occurs (5%)

(4) operator error is involved given that equipment failure occur (5%)

(5) operator error is involved given that equipment failure does not occur (5%)
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1. Prove Bernoulli’s inequality (1 + x)" >l+nx forn=2,3,..,if x>-Lx=#0. (1043)

2. For what values of x in the domain of definition is each of the following functions

-1
continuous? (i) f (x) = I*+oosx i £(x)= 4105 when x # 3; (10 43)
34sinx 0 _
,  When x=3.
3. Show that the series 1-1+1-1+1-1+...= Zl(—-l)"—l diverges. (543)
n=1
1
{5 _ - N e .
4. If F(x)=(e*~5x),find (@)limF(x) and (b) lim 7 (x). (1053
5. Evaluate ﬂﬂ. 543
x
o . z
6. If z=¢" ,x=tcost,y=tsint, compute dz/dt att = P (541)

7. Find the area of the triangle with vertices at P(2,3,5), Q(4,2,-1), R(3,6,4). (547)
8. Two sides of a triangle have lengths ¢ =5cmand & =10cm, and the included

angleis 8 = 3 If g is increasing at a rate of 2cmifsec, b is increasing at a rate

of lemfsec,and @ remains constant, at what rate is the third side changing?

Moreover, at what rate is the area of the triangle changing? (10 53)
2 2
9. Let z=f(x+cy)+g(x—cy), where ¢#0. Calculate g—y—f—czgx—f= ? (1043)

10. The managers of a pension fund have invested $1.5 million in Taiwan government
certificates of deposit (CDs) that pay interest at the rate of 9.5% per year
compounded semiannually over a period of 10 year. At the end of this period, how
much will the investnent be worth? What is the interest earned in the period of
time? (10 43)

11. Find all relative extrema of x?y? subject to the constraint4x? + y* =8. (1043)

12. Find the surface area generated by revolving the curve y =3/4x, 0< y <2 about
the y-axis. (10 43)




